		ATTON, OPENED 10/12/16	1				1			
					Engineer'	Engineer's Estimate		ınd Utilities	Conie Construction	
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
1	201	TREE REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$550.00	\$550.00	\$600.00	\$600.00
2	201	TREE REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
3	201	STUMP REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$250.00	\$250.00	\$200.00	\$200.00
4	201	STUMP REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$350.00	\$350.00	\$500.00	\$500.00
5	254	PAVEMENT PLANING, ASPHALT CONCRETE FULL DEPTH PAVEMENT REMOVAL &	19,914	SY	\$5.00	\$99,570.00	\$2.10	\$41,819.40	\$1.75	\$34,849.50
6	255	RIGID REPL., CLASS C	327	SY	\$60.00	\$19.620.00	\$90.00	\$29,430.00	\$81.00	\$26,487.00
7		DRIVEWAY PAVEMENT REPL., TYPE III-A	30	CY	\$250.00	\$7,500.00	\$350.00	\$10,500.00	\$300.00	\$9,000.00
8		DRIVEWAY PAVEMENT REPL., TYPE III-B	9	CY	\$330.00	\$2,970.00	\$280.00	\$2,520.00	\$350.00	\$3,150.00
9		DRIVEWAY PAVEMENT REPL., TYPE III-C	2	CY	\$60.00	\$120.00	\$50.00	\$2,320.00	\$50.00	\$100.00
10		TACK COAT	2,987	GAL	\$3.60	\$10,753.20	\$2.60	\$7,766.20	\$4.00	\$11,948.00
		ASPHALT CONCRETE SURFACE COURSE (MEDIUM TRAFFIC), PG64-22	824		Ì	. ,	\$165.00	\$135,960.00	\$220.00	\$181,280.00
11	448 608	CONCRETE WALK	5,405	CY SF	\$275.00 \$8.00	\$226,600.00 \$43,240.00	\$165.00	\$133,960.00	\$6.50	\$35,132.50
13		MAINTAINING TRAFFIC	3,403	LS	\$70,000.00	\$70,000.00	\$20,000.00	\$20,000.00	\$81,000.00	\$81,000.00
14		TEMPORARY PAVEMENT	5,356	SY	\$70,000.00	\$160,680.00	\$20,000.00	\$535.60	\$0.01	\$53.56
15		SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$5.00	\$13,185.00	\$5.00	\$13,185.00
16	661	DECIDUOUS TREE, 2.5" (ACER RUBRUM "FRANK JR.")	6	EA	\$400.00	\$2,400.00	\$625.00	\$3,750.00	\$5.00	\$3,450.00
17	801	12 " DUCTILE IRON PIPE & FITTINGS	1,873	LF	\$90.00	\$168,570.00	\$158.00	\$295,934.00	\$195.00	\$365,235.00
18		8 " DUCTILE IRON PIPE & FITTINGS	14,401	LF	\$80.00	\$1,152,080.00	\$127.10	\$1,830,367.10	\$124.00	\$1,785,724.00
19	801	6 " DUCTILE IRON PIPE & FITTINGS	652	LF	\$75.00	\$48,900.00	\$90.00	\$58,680.00	\$115.00	\$74,980.00
20	801	DUCTILE IRON FITTINGS, INCREASE OR DECREASE	1,460	LBS	\$2.70	\$3,942.00	\$1.00	\$1,460.00	\$2.50	\$3,650.00
21		CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	22	CY	\$90.00	\$1,980.00	\$50.00	\$1,100.00	\$100.00	\$2,200.00
22		12 " VALVE & APPURTENANCES	3	EA	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00	\$2,100.00	\$6,300.00
23		8 " VALVE & APPURTENANCES	30	EA	\$1,250.00	\$37,500.00	\$1,500.00	\$45,000.00	\$1,350.00	\$40,500.00
24		6 " VALVE & APPURTENANCES	51	EA	\$1,130.00	\$57,630.00	\$1,200.00	\$61,200.00	\$1,100.00	\$56,100.00
25		WATER SERVICE TAP, XFR'D (LONG)	153	EA	\$1,600.00	\$244,800.00	\$900.00	\$137,700.00	\$800.00	\$122,400.00
26		WATER SERVICE TAP, XFR'D (SHORT)	140	EA	\$1,200.00	\$168,000.00	\$750.00	\$105,000.00	\$600.00	\$84,000.00
27		6 " WATER SERVICE TAP, XFR'D	2	EA	\$1,750.00	\$3,500.00	\$7,000.00	\$14,000.00	\$3,500.00	\$7,000.00
28		CURB BOX	293	EA	\$105.00	\$30,765.00	\$70.00	\$20,510.00	\$65.00	\$19,045.00
29		C.I. FERRULE BOX & COVER	10	EA	\$300.00	\$3,000.00	\$50.00	\$500.00	\$55.00	\$550.00
30		FIRE HYDRANT	43	EA	\$2,500.00	\$107,500.00	\$2,500.00	\$107,500.00	\$2,500.00	\$107,500.00
31		6 " HYDRANT EXTENSION	8	EA	\$175.00	\$1,400.00	\$100.00	\$800.00	\$230.00	\$1,840.00
32	810*	12 " HYDRANT EXTENSION	8	EA	\$180.00	\$1,440.00	\$100.00	\$800.00	\$270.00	\$2,160.00
33		18 " HYDRANT EXTENSION	8	EA	\$185.00	\$1,480.00	\$100.00	\$800.00	\$305.00	\$2,440.00
34	810*	24 " HYDRANT EXTENSION	8	EA	\$190.00	\$1,520.00	\$100.00	\$800.00	\$345.00	\$2,760.00
35		INCREASE OR DECREASE IN EXCAVATION & BACKFILL	50	CY	\$36.00	\$1,800.00	\$3.00	\$150.00	\$25.00	\$1,250.00
36	SPEC	TEMPORARY SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$1.00	\$2,637.00	\$1.00	\$2,637.00

					Engineer	Engineer's Estimate		und Utilities	Conie Con	nstruction
37	SPEC	SEDIMENT & EROSION CONTROL	1	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
38	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
39	SPEC	PROJECT IDENTIFICATION SIGNS	4	EA	\$775.00	\$3,100.00	\$700.00	\$2,800.00	\$900.00	\$3,600.00
40		HEAT WELDING	70	SY	\$100.00	\$7,000.00	\$55.00	\$3,850.00	\$50.00	\$3,500.00
41	SPEC	PERMANENT PAVEMENT, TYPE I	1,786	CY	\$300.00	\$535,800.00	\$100.00	\$178,600.00	\$160.00	\$285,760.00
		SUBTOTAL				\$3,258,790.40		\$3,177,629.30		\$3,390,566.56
42	SPEC	CONTINGENCY (10% of lines 1-41)	1	LS		\$325,879.04		\$317,762.93		\$339,056.66
		GRAND TOTAL				\$3,584,669.44		\$3,495,392.23		\$3,729,623.22
		% DIFFERENCE FROM ENGINE	ER'S ESTI	MATE				-2.49%		4.04%
		(3) Addendum Ackldgmnt. Con	pleted? (F	Pg. 4-5)				yes		yes
		Contract Compl	iance No.	(Pg. 5)			34-1248942 (exp. 4	*9/17, MAJ); 006588	31-0800904 (exp. 10/	22/16, MAJ); 004320
		Bid Proposal Signature Affidavit Com	pleted? (P	g. 6, 8)				yes		yes
		Bonding Cor	npany (Fo	rm B2)			Ciı	ncinnati Insurance Co.	Ohio I	Farmers Insurance Co.
		Proposed Subs	C.C.? (Fo	rm B5)				yes	Precise Boring & A	ll American Trucking
	Bid Affidavit Complete? (Form B9)							yes		yes
		Prime & (applicable) Subs Pro				yes		yes		
		Applicable Loan Forms Included? (B10, 11, 12.2				yes	Need Good	Faith Effort statement		
*Meli	nda said	vendors don't need to acknowledge Addendum #3 sir	ice it was		-		Rath Builders (MBE	E/WBE) (Supplier).	1. Missing Form B2.	2. need proof of CLB

^{*}Melinda said vendors don't need to acknowledge Addendum #3 since it was an internal change (update bid opening in DAX).

Trucking being DBE (not showing in City/State...ODOT maybe?). 3. DBE % goals not met.

					Engineer's Estimate		Eramo	& Sons	Danber	t Inc
Ref.	Item				Engineer	S Listillate	Liuno	a bons	Danoer	t, Inc.
No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
1	201	TREE REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$850.00	\$850.00	\$700.00	\$700.00
2	201	TREE REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00
3	201	STUMP REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$105.00	\$105.00	\$200.00	\$200.00
4	201	STUMP REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$230.00	\$230.00	\$600.00	\$600.00
5	254	PAVEMENT PLANING, ASPHALT CONCRETE	19,914	SY	\$5.00	\$99,570.00	\$2.15	\$42,815.10	\$2.25	\$44,806.50
6	255	FULL DEPTH PAVEMENT REMOVAL & RIGID REPL., CLASS C	327	SY	\$60.00	\$19,620.00	\$80.00	\$26,160.00	\$117.00	\$38,259.00
7	259	DRIVEWAY PAVEMENT REPL., TYPE III-A	30	CY	\$250.00	\$7,500.00	\$280.00	\$8,400.00	\$229.00	\$6,870.00
8	259	DRIVEWAY PAVEMENT REPL., TYPE III-B	9	CY	\$330.00	\$2,970.00	\$425.00	\$3,825.00	\$602.00	\$5,418.00
9	259	DRIVEWAY PAVEMENT REPL., TYPE III-C	2	CY	\$60.00	\$120.00	\$70.00	\$140.00	\$136.00	\$272.00
10	407	TACK COAT	2,987	GAL	\$3.60	\$10,753.20	\$2.50	\$7,467.50	\$3.00	\$8,961.00
11	448	ASPHALT CONCRETE SURFACE COURSE (MEDIUM TRAFFIC), PG64-22	824	CY	\$275.00	\$226,600.00	\$172.00	\$141,728.00	\$177.00	\$145,848.00
12	608	CONCRETE WALK	5,405	SF	\$8.00	\$43,240.00	\$8.00	\$43,240.00	\$12.00	\$64,860.00
13	614	MAINTAINING TRAFFIC	1	LS	\$70,000.00	\$70,000.00	\$120,000.00	\$120,000.00	\$105,000.00	\$105,000.00
14	615	TEMPORARY PAVEMENT	5,356	SY	\$30.00	\$160,680.00	\$0.01	\$53.56	\$1.00	\$5,356.00
15	659	SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$2.00	\$5,274.00	\$6.00	\$15,822.00
16	661	DECIDUOUS TREE, 2.5" (ACER RUBRUM "FRANK JR.")	6	EA	\$400.00	\$2,400.00	\$700.00	\$4,200.00	\$700.00	\$4,200.00
17		12 " DUCTILE IRON PIPE & FITTINGS	1,873	LF	\$90.00	\$168,570.00	\$155.00	\$290,315.00	\$130.00	\$243,490.00
18	801	8 " DUCTILE IRON PIPE & FITTINGS	14,401	LF	\$80.00	\$1,152,080.00	\$120.00	\$1,728,120.00	\$107.00	\$1,540,907.00
19	801	6 " DUCTILE IRON PIPE & FITTINGS	652	LF	\$75.00	\$48,900.00	\$99.00	\$64,548.00	\$105.00	\$68,460.00
20	801	DUCTILE IRON FITTINGS, INCREASE OR DECREASE	1,460	LBS	\$2.70	\$3,942.00	\$3.50	\$5,110.00	\$3.00	\$4,380.00
21	801	CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	22	CY	\$90.00	\$1,980.00	\$112.00	\$2,464.00	\$140.00	\$3,080.00
22	802	12 " VALVE & APPURTENANCES	3	EA	\$2,000.00	\$6,000.00	\$2,175.00	\$6,525.00	\$2,900.00	\$8,700.00
23	802	8 " VALVE & APPURTENANCES	30	EA	\$1,250.00	\$37,500.00	\$1,470.00	\$44,100.00	\$1,750.00	\$52,500.00
24	802	6 " VALVE & APPURTENANCES	51	EA	\$1,130.00	\$57,630.00	\$1,222.00	\$62,322.00	\$1,465.00	\$74,715.00
25	805	WATER SERVICE TAP, XFR'D (LONG)	153	EA	\$1,600.00	\$244,800.00	\$1,423.00	\$217,719.00	\$1,575.00	\$240,975.00
26	805	WATER SERVICE TAP, XFR'D (SHORT)	140	EA	\$1,200.00	\$168,000.00	\$1,175.00	\$164,500.00	\$1,200.00	\$168,000.00
27	805	6 " WATER SERVICE TAP, XFR'D	2	EA	\$1,750.00	\$3,500.00	\$8,981.00	\$17,962.00	\$6,700.00	\$13,400.00
28	805	CURB BOX	293	EA	\$105.00	\$30,765.00	\$60.00	\$17,580.00	\$250.00	\$73,250.00
29	807*	C.I. FERRULE BOX & COVER	10	EA	\$300.00	\$3,000.00	\$55.00	\$550.00	\$400.00	\$4,000.00
30	809	FIRE HYDRANT	43	EA	\$2,500.00	\$107,500.00	\$2,600.00	\$111,800.00	\$2,125.00	\$91,375.00
31	810*	6 " HYDRANT EXTENSION	8	EA	\$175.00	\$1,400.00	\$300.00	\$2,400.00	\$446.00	\$3,568.00
32	810*	12 " HYDRANT EXTENSION	8	EA	\$180.00	\$1,440.00	\$350.00	\$2,800.00	\$490.00	\$3,920.00
33		18 " HYDRANT EXTENSION	8	EA	\$185.00	\$1,480.00	\$400.00	\$3,200.00	\$508.00	\$4,064.00
34	810*	24 " HYDRANT EXTENSION	8	EA	\$190.00	\$1,520.00	\$450.00	\$3,600.00	\$542.00	\$4,336.00
35	811	INCREASE OR DECREASE IN EXCAVATION & BACKFILL	50	CY	\$36.00	\$1,800.00	\$80.00	\$4,000.00	\$60.00	\$3,000.00
36	SPEC	TEMPORARY SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$0.25	\$659.25	\$1.00	\$2,637.00

					Engineer	's Estimate	Eramo & Sons		Danber	Danbert, Inc.	
37	SPEC	SEDIMENT & EROSION CONTROL	1	LS	\$2,000.00	\$2,000.00	\$9,200.00	\$9,200.00	\$5,000.00	\$5,000.00	
38	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$7,500.59	\$7,500.59	\$4,000.00	\$4,000.00	
39	SPEC	PROJECT IDENTIFICATION SIGNS	4	EA	\$775.00	\$3,100.00	\$800.00	\$3,200.00	\$1,000.00	\$4,000.00	
40		HEAT WELDING	70	SY	\$100.00			\$4,200.00	\$61.00	\$4,270.00	
41	SPEC	PERMANENT PAVEMENT, TYPE I	1,786	CY	\$300.00	\$535,800.00	\$197.00	\$351,842.00	\$276.00	\$492,936.00	
		SUBTOTAL				\$3,258,790.40		\$3,532,605.00		\$3,568,135.50	
42	SPEC	CONTINGENCY (10% of lines 1-41)	1	LS		\$325,879.04		\$353,260.50		\$356,813.55	
		GRAND TOTAL				\$3,584,669.44		\$3,885,865.50		\$3,924,949.05	
	% DIFFERENCE FROM ENGINEER'S ESTIMATE							8.40%		9.49%	
		(3) Addendum Ackldgmnt. Con	npleted? (F	Pg. 4-5)				yes		yes	
		Contract Compl	iance No.	(Pg. 5)			31-0724866 (exp. 10	0/20/17, MAJ); 004251	31-1029004 (exp. 7/	6/18, MAJ); 004618	
		Bid Proposal Signature Affidavit Com	pleted? (P	g. 6, 8)				yes		yes	
		Bonding Cor	npany (Fo	rm B2)			Ohio	Farmers Insurance Co.	Philadelphia Inde	emnity Insurance Co.	
		Proposed Subs	C.C.? (Fo	rm B5)				yes		yes	
		Bid Affidavit Com	plete? (Fo	rm B9)				yes		yes	
		Prime & (applicable) Subs Pre						yes		yes	
		Applicable Loan Forms Included? (B10, 11, 12.2)				yes		yes			
*Meli	nda saic	I vendors don't need to acknowledge Addendum #3 sir				Using Bridges Bros.	Trucking (EDGE) for	1. Missing Form B2, s	urety's POA & fin.		
		an internal change (update bid opening in DAX).				DBE/FBE (3.1%).		stmt.			
							Need surety's fin. stm	nt. & Cert of Ins.			

		,			Engineer's Estimate		Elite Exca	vating Co	Shelly A	& Sands
Ref.	Item					Estimate	Ente Exca	vating Co.	Sheny	Sands
No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
1	201	TREE REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$550.00	\$550.00	\$603.00	\$603.00
2	201	TREE REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
3	201	STUMP REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$250.00	\$250.00	\$200.00	\$200.00
4	201	STUMP REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$350.00	\$350.00	\$400.00	\$400.00
5	254	PAVEMENT PLANING, ASPHALT CONCRETE	19,914	SY	\$5.00	\$99,570.00	\$2.00	\$39,828.00	\$3.00	\$59,742.00
		FULL DEPTH PAVEMENT REMOVAL &	225	a	# < 0.00	Φ10 52 0 00	405.00	# 25 5 0 5 00	Φ 7 0.00	#22 000 00
6	255	RIGID REPL., CLASS C	327	SY	\$60.00	\$19,620.00	\$85.00	\$27,795.00	\$70.00	\$22,890.00
7	259	DRIVEWAY PAVEMENT REPL., TYPE III-A	30	CY	\$250.00	\$7,500.00	\$500.00	\$15,000.00	\$350.00	\$10,500.00
8	259	DRIVEWAY PAVEMENT REPL., TYPE III-B	9	CY	\$330.00	\$2,970.00	\$900.00	\$8,100.00	\$950.00	\$8,550.00
9	259	DRIVEWAY PAVEMENT REPL., TYPE III-C	2,987	CY	\$60.00	\$120.00 \$10,753.20	\$50.00	\$100.00	\$120.00	\$240.00
10	407	TACK COAT ASPHALT CONCRETE SURFACE COURSE	2,987	GAL	\$3.60	\$10,/53.20	\$3.00	\$8,961.00	\$2.50	\$7,467.50
11	448	(MEDIUM TRAFFIC), PG64-22	824	CY	\$275.00	\$226,600.00	\$159.00	\$131,016.00	\$220.00	\$181,280.00
12	608	CONCRETE WALK	5,405	SF	\$8.00	\$43,240.00	\$7.00	\$37,835.00	\$9.65	\$52,158.25
13	614	MAINTAINING TRAFFIC	1	LS	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$388,000.00	\$388,000.00
14	615	TEMPORARY PAVEMENT	5,356	SY	\$30.00	\$160,680.00	\$17.00	\$91,052.00	\$1.00	\$5,356.00
15	659	SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$9.00	\$23,733.00	\$1.00	\$2,637.00
16	661	DECIDUOUS TREE, 2.5" (ACER RUBRUM "FRANK JR.")	6	EA	\$400.00	\$2,400.00	\$625.00	\$3,750.00	\$530.00	\$3,180.00
17	801	12 " DUCTILE IRON PIPE & FITTINGS	1,873	LF	\$90.00	\$168,570.00	\$195.00	\$365,235.00	\$130.00	\$243,490.00
18	801	8 " DUCTILE IRON PIPE & FITTINGS	14,401	LF	\$80.00	\$1,152,080.00	\$99.00	\$1,425,699.00	\$85.00	\$1,224,085.00
19	801	6 " DUCTILE IRON PIPE & FITTINGS	652	LF	\$75.00	\$48,900.00	\$215.00	\$140,180.00	\$200.00	\$130,400.00
20	801	DUCTILE IRON FITTINGS, INCREASE OR DECREASE	1,460	LBS	\$2.70	\$3,942.00	\$2.00	\$2,920.00	\$2.00	\$2,920.00
21	801	CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	22	CY	\$90.00	\$1,980.00	\$200.00	\$4,400.00	\$100.00	\$2,200.00
22	802	12 " VALVE & APPURTENANCES	3	EA	\$2,000.00	\$6,000.00	\$3,000.00	\$9,000.00	\$2,100.00	\$6,300.00
23	802	8 " VALVE & APPURTENANCES	30	EA	\$1,250.00	\$37,500.00	\$1,800.00	\$54,000.00	\$1,300.00	\$39,000.00
24	802	6 " VALVE & APPURTENANCES	51	EA	\$1,130.00	\$57,630.00	\$1,400.00	\$71,400.00	\$1,100.00	\$56,100.00
25	805	WATER SERVICE TAP, XFR'D (LONG)	153	EA	\$1,600.00	\$244,800.00	\$1,700.00	\$260,100.00	\$1,950.00	\$298,350.00
26	805	WATER SERVICE TAP, XFR'D (SHORT)	140	EA	\$1,200.00	\$168,000.00	\$1,300.00	\$182,000.00	\$1,900.00	\$266,000.00
27	805	6 " WATER SERVICE TAP, XFR'D	2	EA	\$1,750.00	\$3,500.00	\$10,000.00	\$20,000.00	\$7,500.00	\$15,000.00
28	805	CURB BOX	293	EA	\$105.00	\$30,765.00	\$200.00	\$58,600.00	\$50.00	\$14,650.00
29	807*	C.I. FERRULE BOX & COVER	10	EA	\$300.00	\$3,000.00	\$200.00	\$2,000.00	\$300.00	\$3,000.00
30	809	FIRE HYDRANT	43	EA	\$2,500.00	\$107,500.00	\$3,000.00	\$129,000.00	\$2,575.00	\$110,725.00
31	810*	6 " HYDRANT EXTENSION	8	EA	\$175.00	\$1,400.00	\$350.00	\$2,800.00	\$500.00	\$4,000.00
32	810*	12 " HYDRANT EXTENSION	8	EA	\$180.00	\$1,440.00	\$400.00	\$3,200.00	\$510.00	\$4,080.00
33		18 " HYDRANT EXTENSION	8	EA	\$185.00	\$1,480.00	\$425.00	\$3,400.00	\$520.00	\$4,160.00
34	810*	24 " HYDRANT EXTENSION	8	EA	\$190.00	\$1,520.00	\$475.00	\$3,800.00	\$530.00	\$4,240.00
35	811	INCREASE OR DECREASE IN EXCAVATION & BACKFILL	50	CY	\$36.00	\$1,800.00	\$30.00	\$1,500.00	\$35.00	\$1,750.00
36	SPEC	TEMPORARY SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$1.00	\$2,637.00	\$1.25	\$3,296.25

					Engineer	Engineer's Estimate		avating Co.	Shelly &	& Sands
37	SPEC	SEDIMENT & EROSION CONTROL	1	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
38	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
39	SPEC	PROJECT IDENTIFICATION SIGNS	4	EA	\$775.00	\$3,100.00	\$500.00	\$2,000.00	\$900.00	\$3,600.00
40		HEAT WELDING	70	SY	\$100.00	\$7,000.00	\$110.00	\$7,700.00	\$50.00	\$3,500.00
41	SPEC	PERMANENT PAVEMENT, TYPE I	1,786	CY	\$300.00	\$535,800.00	\$215.00	\$383,990.00	\$260.00	\$464,360.00
		SUBTOTAL				\$3,258,790.40		\$3,590,081.00		\$3,680,410.00
42	SPEC	CONTINGENCY (10% of lines 1-41)	1	LS		\$325,879.04		\$359,008.10		\$368,041.00
		GRAND TOTAL				\$3,584,669.44		\$3,949,089.10		\$4,048,451.00
		% DIFFERENCE FROM ENGINER	ER'S ESTI	MATE				10.17%		12.94%
		(3) Addendum Ackldgmnt. Con	npleted? (F	Pg. 4-5)				yes		yes
		Contract Compl	iance No.	(Pg. 5)			20-1643186 (exp. 8)	/17/18, MAJ); 001064	31-4351261 (exp. 12)	/23/17, MAJ); 006043
		Bid Proposal Signature Affidavit Com	pleted? (P	g. 6, 8)				yes		yes
	Bonding Company (Form B2)				Travelers	Casualty & Surety Co.	Ohio Farmers	& Travelers Casualty		
Proposed Subs C.C.? (Form B5)					yes		yes			
	Bid Affidavit Complete? (Form B9)							yes		yes
	•	Prime & (applicable) Subs Pre				yes		yes		
	•	Applicable Loan Forms Included? (B10, 11, 12.2)	, 12.3, Iro	n/Steel)				yes		yes

^{*}Melinda said vendors don't need to acknowledge Addendum #3 since it was an internal change (update bid opening in DAX).

Need surety's fin. stmt & Cert of Ins.
Submitted Good Faith Effort statement.

					Engineer's Estimate		Kenmore C	onstruction	Reheler I	Excavating
Ref.	Item				Engineer	3 Listinate	ixemmore e	onstruction	Deficiel 1	Acavating
No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
1	201	TREE REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$700.00	\$700.00	\$1,100.00	\$1,100.00
2	201	TREE REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$2,100.00	\$2,100.00	\$2,400.00	\$2,400.00
3	201	STUMP REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$300.00	\$300.00	\$750.00	\$750.00
4	201	STUMP REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$550.00	\$550.00	\$850.00	\$850.00
5	254	PAVEMENT PLANING, ASPHALT CONCRETE	19,914	SY	\$5.00	\$99,570.00	\$5.00	\$99,570.00	\$3.00	\$59,742.00
6	255	FULL DEPTH PAVEMENT REMOVAL & RIGID REPL., CLASS C	327	SY	\$60.00	\$19,620.00	\$115.00	\$37,605.00	\$105.00	\$34,335.00
7	259	DRIVEWAY PAVEMENT REPL., TYPE III-A	30	CY	\$250.00	\$7,500.00	\$350.00	\$10,500.00	\$420.00	\$12,600.00
8	259	DRIVEWAY PAVEMENT REPL., TYPE III-B	9	CY	\$330.00	\$2,970.00	\$400.00	\$3,600.00	\$400.00	\$3,600.00
9	259	DRIVEWAY PAVEMENT REPL., TYPE III-C	2	CY	\$60.00	\$120.00	\$100.00	\$200.00	\$500.00	\$1,000.00
10	407	TACK COAT	2,987	GAL	\$3.60	\$10,753.20	\$3.00	\$8,961.00	\$3.20	\$9,558.40
11	448	ASPHALT CONCRETE SURFACE COURSE (MEDIUM TRAFFIC), PG64-22	824	CY	\$275.00	\$226,600.00	\$250.00	\$206,000.00	\$250.00	\$206,000.00
12	608	CONCRETE WALK	5,405	SF	\$8.00	\$43,240.00	\$10.00	\$54,050.00	\$8.00	\$43,240.00
13	614	MAINTAINING TRAFFIC	1	LS	\$70,000.00	\$70,000.00	\$100,000.00	\$100,000.00	\$145,375.00	\$145,375.00
14	615	TEMPORARY PAVEMENT	5,356	SY	\$30.00	\$160,680.00	\$15.00	\$80,340.00	\$1.00	\$5,356.00
15	659	SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$10.00	\$26,370.00	\$10.00	\$26,370.00
16	661	DECIDUOUS TREE, 2.5" (ACER RUBRUM "FRANK JR.")	6	EA	\$400.00	\$2,400.00	\$800.00	\$4,800.00	\$100.00	\$600.00
17	801	12 " DUCTILE IRON PIPE & FITTINGS	1,873	LF	\$90.00	\$168,570.00	\$125.00	\$234,125.00	\$161.11	\$301,759.03
18		8 " DUCTILE IRON PIPE & FITTINGS	14,401	LF	\$80.00	\$1,152,080.00	\$105.00	\$1,512,105.00	\$106.76	\$1,537,450.76
19	801	6 " DUCTILE IRON PIPE & FITTINGS	652	LF	\$75.00	\$48,900.00	\$95.00	\$61,940.00	\$102.84	\$67,051.68
20	801	DUCTILE IRON FITTINGS, INCREASE OR DECREASE	1,460	LBS	\$2.70	\$3,942.00	\$3.50	\$5,110.00	\$6.00	\$8,760.00
21	801	CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	22	CY	\$90.00	\$1,980.00	\$150.00	\$3,300.00	\$200.00	\$4,400.00
22	802	12 " VALVE & APPURTENANCES	3	EA	\$2,000.00	\$6,000.00	\$2,200.00	\$6,600.00	\$2,880.00	\$8,640.00
23	802	8 " VALVE & APPURTENANCES	30	EA	\$1,250.00	\$37,500.00	\$1,400.00	\$42,000.00	\$1,946.00	\$58,380.00
24	802	6 " VALVE & APPURTENANCES	51	EA	\$1,130.00	\$57,630.00	\$1,100.00	\$56,100.00	\$1,670.00	\$85,170.00
25		WATER SERVICE TAP, XFR'D (LONG)	153	EA	\$1,600.00	\$244,800.00	\$1,600.00	\$244,800.00	\$1,600.00	\$244,800.00
26		WATER SERVICE TAP, XFR'D (SHORT)	140	EA	\$1,200.00	\$168,000.00	\$1,100.00	\$154,000.00	\$1,200.00	\$168,000.00
27		6 " WATER SERVICE TAP, XFR'D	2	EA	\$1,750.00	\$3,500.00	\$5,000.00	\$10,000.00	\$12,000.00	\$24,000.00
28	805	CURB BOX	293	EA	\$105.00	\$30,765.00	\$100.00	\$29,300.00	\$125.00	\$36,625.00
29	807*	C.I. FERRULE BOX & COVER	10	EA	\$300.00	\$3,000.00	\$230.00	\$2,300.00	\$200.00	\$2,000.00
30	809	FIRE HYDRANT	43	EA	\$2,500.00	\$107,500.00	\$2,600.00	\$111,800.00	\$2,700.00	\$116,100.00
31	810*	6 " HYDRANT EXTENSION	8	EA	\$175.00	\$1,400.00	\$300.00	\$2,400.00	\$420.00	\$3,360.00
32	810*	12 " HYDRANT EXTENSION	8	EA	\$180.00	\$1,440.00	\$400.00	\$3,200.00	\$460.00	\$3,680.00
33	810*	18 " HYDRANT EXTENSION 24 " HYDRANT EXTENSION	8	EA	\$185.00 \$190.00	\$1,480.00	\$500.00 \$500.00	\$4,000.00 \$4,000.00	\$550.00	\$4,400.00 \$5,200.00
54	810*		8	EA	\$190.00	\$1,520.00	\$500.00	\$4,000.00	\$650.00	\$5,200.00
35	811	INCREASE OR DECREASE IN EXCAVATION & BACKFILL	50	CY	\$36.00	\$1,800.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00
36	SPEC	TEMPORARY SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$1.00	\$2,637.00	\$1.00	\$2,637.00

					Engineer	r's Estimate	Kenmore	Kenmore Construction Beheler		r Excavating	
37	SPEC	SEDIMENT & EROSION CONTROL	1	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	
38	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$21,000.00	\$21,000.00	
39	SPEC	PROJECT IDENTIFICATION SIGNS	4	EA	\$775.00	\$3,100.00	\$1,000.00	\$4,000.00	\$1,500.00	\$6,000.00	
40		HEAT WELDING	70	SY	\$100.00	\$7,000.00	\$50.00	\$3,500.00	\$75.00	\$5,250.00	
41	SPEC	PERMANENT PAVEMENT, TYPE I	1,786	CY	\$300.00	\$535,800.00	\$350.00	\$625,100.00	\$300.00	\$535,800.00	
		SUBTOTAL				\$3,258,790.40		\$3,795,463.00		\$3,813,339.87	
42	SPEC	CONTINGENCY (10% of lines 1-41)	1	LS		\$325,879.04		\$379,546.30		\$381,333.99	
		GRAND TOTAL				\$3,584,669.44		\$4,175,009.30		\$4,194,673.86	
		% DIFFERENCE FROM ENGINER	ER'S EST	MATE				16.47%		17.02%	
		(3) Addendum Ackldgmnt. Con	npleted? (I	Pg. 4-5)							
		Contract Compl	iance No.	(Pg. 5)							
		Bid Proposal Signature Affidavit Com	pleted? (F	g. 6, 8)			*Pid not avaluated	d; 19.4% higher than	*Did not avaluated	1: 200/ higher than	
		Bonding Cor	npany (Fo	orm B2)				e, responsible bidder		d; 20% higher than responsible bidder	
	Proposed Subs C.C.? (Form B5)							und Utilities).		nd Utilities).	
	Bid Affidavit Complete? (Form B9)						(Undergro	una Ounties).	(Ulidergrou	na Ounaes).	
		Prime & (applicable) Subs Pre	to Bid?								
		Applicable Loan Forms Included? (B10, 11, 12.2)									

^{*}Melinda said vendors don't need to acknowledge Addendum #3 since it was an internal change (update bid opening in DAX).

					Engineer'	s Estimate	Darby Creel	k Excavating	Park E	nterprise
Ref.	Item									F
No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
1	201	TREE REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$871.86	\$871.86
2	201	TREE REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,162.49	\$1,162.49
3	201	STUMP REMOVED, 18" SIZE	1	EA	\$750.00	\$750.00	\$800.00	\$800.00	\$232.49	\$232.49
4	201	STUMP REMOVED, 30" SIZE	1	EA	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$348.74	\$348.74
5	254	PAVEMENT PLANING, ASPHALT CONCRETE	19,914	SY	\$5.00	\$99,570.00	\$4.00	\$79,656.00	\$3.35	\$66,711.90
6	255	FULL DEPTH PAVEMENT REMOVAL & RIGID REPL., CLASS C	327	SY	\$60.00	\$19,620.00	\$150.00	\$49,050.00	\$128.12	\$41,895.24
7	259	DRIVEWAY PAVEMENT REPL., TYPE III-A	30	CY	\$250.00	\$7,500.00	\$300.00	\$9,000.00	\$929.61	\$27,888.30
8	259	DRIVEWAY PAVEMENT REPL., TYPE III-B	9	CY	\$330.00	\$2,970.00	\$800.00	\$7,200.00	\$854.99	\$7,694.91
9	259	DRIVEWAY PAVEMENT REPL., TYPE III-C	2	CY	\$60.00	\$120.00	\$100.00	\$200.00	\$201.00	\$402.00
10	407	TACK COAT	2,987	GAL	\$3.60	\$10,753.20	\$3.00	\$8,961.00	\$5.46	\$16,309.02
11	448	ASPHALT CONCRETE SURFACE COURSE (MEDIUM TRAFFIC), PG64-22	824	CY	\$275.00	\$226,600.00	\$200.00	\$164,800.00	\$195.80	\$161,339.20
12	608	CONCRETE WALK	5,405	SF	\$8.00	\$43,240.00	\$15.00	\$81,075.00	\$15.92	\$86,047.60
13	614	MAINTAINING TRAFFIC	1	LS	\$70,000.00	\$70,000.00	\$135,000.00	\$135,000.00	\$349,713.74	\$349,713.74
14	615	TEMPORARY PAVEMENT	5,356	SY	\$30.00	\$160,680.00	\$12.00	\$64,272.00	\$16.15	\$86,499.40
15	659	SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$5.00	\$13,185.00	\$40.73	\$107,405.01
16	661	DECIDUOUS TREE, 2.5" (ACER RUBRUM "FRANK JR.")	6	EA	\$400.00	\$2,400.00	\$1,500.00	\$9,000.00	\$929.99	\$5,579.94
17	801	12 " DUCTILE IRON PIPE & FITTINGS	1,873	LF	\$90.00	\$168,570.00	\$173.00	\$324,029.00	\$141.01	\$264,111.73
18	801	8 " DUCTILE IRON PIPE & FITTINGS	14,401	LF	\$80.00	\$1,152,080.00	\$119.00	\$1,713,719.00	\$121.44	\$1,748,857.44
19	801	6 " DUCTILE IRON PIPE & FITTINGS	652	LF	\$75.00	\$48,900.00	\$144.00	\$93,888.00	\$105.46	\$68,759.92
20	801	DUCTILE IRON FITTINGS, INCREASE OR DECREASE	1,460	LBS	\$2.70	\$3,942.00	\$3.00	\$4,380.00	\$6.68	\$9,752.80
21	801	CONCRETE BLOCKING CLASS C, INCREASE OR DECREASE	22	CY	\$90.00	\$1,980.00	\$150.00	\$3,300.00	\$247.94	\$5,454.68
22	802	12 " VALVE & APPURTENANCES	3	EA	\$2,000.00	\$6,000.00	\$2,800.00	\$8,400.00	\$2,437.20	\$7,311.60
23	802	8 " VALVE & APPURTENANCES	30	EA	\$1,250.00	\$37,500.00	\$1,600.00	\$48,000.00	\$1,582.78	\$47,483.40
24	802	6 " VALVE & APPURTENANCES	51	EA	\$1,130.00	\$57,630.00	\$1,400.00	\$71,400.00	\$1,257.28	\$64,121.28
25	805	WATER SERVICE TAP, XFR'D (LONG)	153	EA	\$1,600.00	\$244,800.00	\$2,025.00	\$309,825.00	\$2,297.28	\$351,483.84
26	805	WATER SERVICE TAP, XFR'D (SHORT)	140	EA	\$1,200.00	\$168,000.00	\$1,050.00	\$147,000.00	\$1,109.30	\$155,302.00
27	805	6 " WATER SERVICE TAP, XFR'D	2	EA	\$1,750.00	\$3,500.00	\$12,000.00	\$24,000.00	\$51,866.41	\$103,732.82
28	805	CURB BOX	293	EA	\$105.00	\$30,765.00	\$70.00	\$20,510.00	\$94.50	\$27,688.50
29	807*	C.I. FERRULE BOX & COVER	10	EA	\$300.00	\$3,000.00	\$400.00	\$4,000.00	\$103.87	\$1,038.70
30	809	FIRE HYDRANT	43	EA	\$2,500.00	\$107,500.00	\$2,500.00	\$107,500.00	\$1,931.52	\$83,055.36
31	810*	6 " HYDRANT EXTENSION	8	EA	\$175.00	\$1,400.00	\$300.00	\$2,400.00	\$570.27	\$4,562.16
32	810*	12 " HYDRANT EXTENSION	8	EA	\$180.00	\$1,440.00	\$400.00	\$3,200.00	\$616.77	\$4,934.16
33	810*	18 " HYDRANT EXTENSION	8	EA	\$185.00	\$1,480.00	\$500.00	\$4,000.00	\$663.27	\$5,306.16
34	810*	24 " HYDRANT EXTENSION	8	EA	\$190.00	\$1,520.00	\$600.00	\$4,800.00	\$709.76	\$5,678.08
35	811	INCREASE OR DECREASE IN EXCAVATION & BACKFILL	50	CY	\$36.00	\$1,800.00	\$20.00	\$1,000.00	\$77.26	\$3,863.00
36	SPEC	TEMPORARY SEEDING & MULCHING	2,637	SY	\$2.30	\$6,065.10	\$3.00	\$7,911.00	\$0.58	\$1,529.46

					Engineer	's Estimate	Darby Cree	ek Excavating	Park Enterprise	
37	SPEC	SEDIMENT & EROSION CONTROL	1	LS	\$2,000.00	\$2,000.00	\$15,000.00	\$15,000.00	\$26,662.97	\$26,662.97
38	SPEC	SURVEY COORDINATES	1	LS	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$9,299.86	\$9,299.86
39	SPEC	PROJECT IDENTIFICATION SIGNS	4	EA	\$775.00	\$3,100.00	\$1,200.00	\$4,800.00	\$988.11	\$3,952.44
40		HEAT WELDING	70	SY	\$100.00	\$7,000.00	\$74.00	\$5,180.00	\$62.77	\$4,393.90
41	SPEC	PERMANENT PAVEMENT, TYPE I	1,786	CY	\$300.00	\$535,800.00	\$300.00	\$535,800.00	\$276.05	\$493,025.30
		SUBTOTAL				\$3,258,790.40		\$4,109,941.00		\$4,461,463.40
42	SPEC	CONTINGENCY (10% of lines 1-41)	1	LS		\$325,879.04		\$410,994.10		\$446,146.34
		GRAND TOTAL				\$3,584,669.44		\$4,520,935.10		\$4,907,609.74
		% DIFFERENCE FROM ENGINER	ER'S ESTI	MATE				26.12%		36.91%
		(3) Addendum Ackldgmnt. Con	npleted? (I	Pg. 4-5)						
		Contract Compl	iance No.	(Pg. 5)						
		Bid Proposal Signature Affidavit Com	pleted? (P	g. 6, 8)			*Did not avaluated	; 29.3% higher than	*Did not avaluated	1: 40 404 higher then
		Bonding Cor	npany (Fo	rm B2)				, responsible bidder		e, responsible bidder
	Proposed Subs C.C.? (Form B5						_	and Utilities).		and Utilities).
	Bid Affidavit Complete? (Form B9						(Undergrot	ina Ounities).	(Undergroi	ind Officies).
	•	Prime & (applicable) Subs Pro	to Bid?							
	•	Applicable Loan Forms Included? (B10, 11, 12.2	n/Steel)							

^{*}Melinda said vendors don't need to acknowledge Addendum #3 since it was an internal change (update bid opening in DAX).

*Corrected contingency & grand total.